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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each. Section - B comprises of 8 questions of
2 marks each. Section - C comprises of 10 questions of 3 marks each and Section - D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 2 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION -“A’
Question numbers 1 to 10 are of one mark each :
AABC is right angled at A, the value of tan B X tan Cis:
@ o0 (b) 1
¢ -1 (d) None of the above

The graph of a polynomial y = f (x) is shown in fig 1. The number of zeroes of f (x) is :
@ 3 (b) 1 (€© O (d) 2

Y/
Fig. 1

If mode = 80 and mean = 110 then the median is :
(a) 110 (b) 120 (c) 100 (d) 90

The following pairs of linear equations 2x + 5y = 3 and 6x +15y= 12 represent :

(a) Intersecting lines (b) Parallel lines

() Coincident lines (d) None froma, b, c

If 3 cos® = 1, then the value of cosec@ is :

CIN

@ a3

AABC ~ APQR , M is the mid point of BC and N is the mid point of QR. If the area of
AABC = 100 sq. cm and the area of A PQR = 144 sq. cm. If AM = 4 ¢cm then PN is :

(a) 4.8 cm (b) 12 cm () 4cm (d) 5.6 cm
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If two positive integers a and b are written as a = x? y?> and b = xy?; x, y are prime
numbers then HCF (a, b) is :

@ xy (b) xy? (d)  x%?

For the decimal number 0.6, the rational number is :

33 b 1
50 (b) ©  Te7

If APQR is right angled at R, then the value of cos (P + Q) is :

@ 1 ®) 0 © =

1 1
Given that sin a = 5 and cos B = ) then the value of o + Bis:

@ 0° b)  90° (€ 30° (d) 60°

SECTION - ‘B’
Question numbers 11 to 18 carry 2 marks each.

Find the zeroes of the quadratic polynomial x2 + 7x + 12 and verify the relationship
between the zeroes and its coefficients.

Can the number 6", n being a natural number end with the digit 5 ? Give reasons.

Find the median of the following data.

Marks 0—10 (10 — 30|30 — 60
Frequency 5 15 30

For what value of k, will the following system of linear equations have infinitely many
solutions ?

2x + 3y = 4and (k + 2) x + 6y = 3k + 2.

Given that sin (A + B) = sin A cos B + cos A sin B, find the value of sin 75°
OR

13
It cosec 6 = X find the value of cot 6 + tan 0
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16. In the given figure - 2, E is a point on side CB produced of an isosceles A ABC with
AB = BC. If AD | BC and EF | AC. Prove that AABD ~ AECF.

A

H
D

Fig.2

17. For the data given below draw more than ogive graph and find the value of median.

Production (in tons ) |No. Of labourers
0 -10 8
10 — 20 18
20 — 30 23
30 — 40 37
40 — 50 47
50 — 60 26
60 — 70 16
70 — 80 7
Total

18. Infigure - 3, O is a point inside A PQR such that /POR =90°, OP=6 cm and OR=8 cm.
If PQ = 24 cm, QR = 26 cm, prove that A QPR is a right angled triangle.

P
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SECTION -‘C’

Question numbers 19-28 carry 3 marks each.

Rekha’s mother is five times as old as her daughter Rekha. Five years later, Rekha’s
mother will be three times as old as her daughter Rekha. Find the present age of Rekha
and her mother’s age.

OR

Two numbers are in the ratio 5 : 6. If 8 is subtracted from each of the numbers, the
ratio becomes 4 : 5. Find the numbers.

Show that the square of any positive integer cannot be of the form 5q+2 or 5q +3 for
any integer q.

tan6 + 4
4coth +1°

If sinf = % , find the value of

Find unknown entries a,b,c,d,ef in the following distribution of heights of students in
a class and the total number of students in the class in 50.

Height in c.m. 150 -155|155-160| 160 - 165 | 165 -170 {170 -175 | 175 - 180

Frequency 12 b 10 d e 2
Cumulative

a 25 c 43 48 f

Frequency

Find the mean marks from the following data :

Marks Number of Students
Below 10 4
Below 20 10
Below 30 18
Below 40 28
Below 50 40
Below 60 70
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tan0 coto

Prove that T—cotd + I—tand = 1+ secH. cosech

In fig - 4 DE || BC and AD:DB = 5: 4, find

area ADEF
area ACFB

C
Fig. 4

If a, B, vy are zeros of polynomial 6x3+3x2—5x+1, then find the value of
a~l —I-B_l + 7_1.

Show that 6+ /2 is irrational.

Prove that 5— /3 is an irrational.

In APQR, PD | OR such that D lies on QR. If PQ =a, PR= b, QD =cand DR = d and
a, b, ¢, d are positive units, prove that (a+b) (a—b)=(c+d) (c—d).

SECTION - ‘D’

Question number 29 to 34 carry 4 marks each.
State and Prove Basic Proportionality theorem.
OR

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the
squares of their corresponding sides.

Prove that :

2 1 2 1
- +
sin29 sin46

= cot0 — tan?0

c0526 c0s46
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Solve the following equations graphically :
2x+3y=12 and x—y=1. Shade the region between the two lines and x - axis.

Prove that :

sin® — cosf N sinf + cosb 2
sin® + cosH sin® — cosh 23in26—1

OR

sin 35° cosb5.cosec35°
Evaluate : -

0s 55° + tan5° tan25° tan45° tan65° tan85°

Calculate the mode of the following frequency distribution table.
Marks No. of Students

above 25 52

above 35 47

above 45 37

above 55 17

above 65 8

above 75 2

above 85 0

If the remainder on division of x>+ 2x2+kx+3 by x—3 is 21, find the quotient and the
value of k. Hence, find the zeroes of the cubic polynomial x>+ 2x2+kx —18.

-00o0-
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@ o b 1
@ -1 (d) T § B T

a1 6 fe@m® ™ 9g9ky = f(v) § 9898 £ (x) & LIF © :
@ 3 (b) 1 © 0

A4

Yr
Ahid - 1

Ifg Sgeteh = 80 A HILA = 110 T WIFeah BT :
(a) 110 (b) 120 (©) 100

A FHiwI g 2x + 5y = 3 AT 6x +15y = 12 WA € :
(@) fdese W (b) HEFRR TEr
(c) I Y@ d) ab,cH Y FE T

Ife 3 cos® = 1 T cosecd T HH © :
3
b Hp

@ a5
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AABC ~ APQR ® @1 M, BC &1 1&7 fag ®, a1 N, QR &1 7ex fag| afc AABC &1
el = 100 B.91.2 qeM APQR 1 &5hel = 144 AH2R N aic AM = 4 9.9, A G& PN ®

(a) 4.8 9. (b) 12 |4 (c) 49T (d) 5.6 9.

Ifg Y eHATHS UITH a AN b, 0 = 122 FAMb=xy? & &9 H foT@ T ST 1 T y I T
8 9 a, b %1 HCF (W.9.9.) 31 :

(a) xy (b) xy?

IS &A1 0. 6 i TNHT G § fohd T8 I L Thd © ?

33 111

2
@ 3 b 3 © 147

Ifg APQR H LRW'UT_&"THHCOS(P + Q)EFTTI'H_@TH:

@ 1 ® 0 © 5

1 1
fem 8 sin « = EFT?JTCOSB = Eaaa+ BEFITI'F{%:

@ 0° b)  90° (€ 30°
T|Us-a

U9 W& 11 ¥ 18 Tk Udeh U9 2 3k T &1
fgomd SIgaR 22 + 7x + 12 Y[AH I Y U1 39k YAk o 0Nk H TH-Y FAIId hifeg |

1 AT 6" 1 THIE 37k 5 B Hehell €, el 1 Toh TThd H&AT & ? ek g |

1= atishel o) Hifearent a4 |

e 0 — 10 [10 — 30

IRARAT 5 15
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k% fore 7 & fo@ f=1 Mg g & 1= g 8 2
2x + 3y = 49U (k + 2) x + 6y = 3k + 2.

ﬁ'fﬂ%sin(A + B) = sin A cos B + cos A sin B I sin 75° %l A J1d & |
aT

13
7S cosec § = EFﬁcotG + tan 0 T AF I U |

3Tfa (2) #, AABC Us gufgarg 51y §, fs/ad AB = BC ® @1 3[S11 CB &1 foIg E a4 sgrn
T €1 49fe AD | BC 91 EF | AC &t fag #ifsiw f AABD ~ AECF.

A

B E

A - 2

17. 7= effonei & gr0 ‘@ e1fires WhR o1’ dROT SA1EY qe WifeAeht ki W A9 Shifeg |

Sedred < H TSIGA &1 g
0—10 8
10 — 20 18
20 — 30 23
30 — 40 37
40 — 50 47
50 — 60 26
60 — 70 16
70 — 80 7

A
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18.

19.

20.

21.

22.

23.

aHfd 3) H# APQR & 31X O & fog 36 YR € fF L POR=90°, OP=6 W.H. qer
OR=8 9. | IR PQ = 24 9.H1., QR = 26 9.7, Tog HIVT f AQPR TH TH&IV =
BT

Y9 W&AT 19 | 28 Ak TS W9 3 & &7 $

@ A X | T T G R | 9T Wi oG 9kt HT S99 i T[T I8 ST | 3@ a9 T
AT 1 IAAE ST A HIoTT |

T
Y HEAH 5: 6% A H 1 Afe 8 AT Tl # e < Ot Hensti 1 ST 4 1 5 8 S
e

TIE R TR qUifeh 1 7 5q +2 A 5q+3 F T4 H 7L & Hohdll, &l q oI 2|

tanf + 4
4coth + 1

Hﬁsinez%ﬁ,?h 1 HH 1A IS |

frefafad § @ e Y€ a, b, ¢, d, e TUT £ 1 A 1A HITSTT ST&T sTEAl s Teh el & 50
ferenfefai 1 S=mé =1 YR Twia @

S (2. HLH) 150 -155|155-160| 160 -165 | 165-170 {170 -175| 175 - 180

AREAT 12 b 10 d e 2

Tod] IR a 25 C 43 48 f

e effnel @ weA qrwdiss Ad A |
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tano cotf
1—cot6 + 1—tan0

24. fag =ifvw

= 1+ secH. cosec

25. STHid (4) §, DE | BCTNMAD : DB = 5 : 4 79 ¥ whif9Q

&% ADEF
&% ACFB

B C

AT - 4

IfE o, B A y TZIS 633 + 332 —5x+1 % TR & Ao~ +B~1 + y~1 o1 7H I HINT|

T foh 6+ o T IRAT Tem 7

fag FIT5- /3 T Tulda gen B

APQRﬁPDLQRWW%ﬁFD,QR‘T{%l _qﬁPQ =a,PR=b,QD =cdADR = 4 dqAT
a, b, c, d YA TS B dl fag SIS .
(a+b) (a—b)=(c+d) (c—d).

Qug-q
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Y9 W&AT 29 | 34 Ak TS W9 4 3% &7 $)

Fe faad go MuRYd IaaTasal g9a fag i
M
fag wifST fo < T9Ed fAysl & S%a &1 STIUTd 3k T STstl o a7 o STUTd Bral & |

fag =ifST

2 1 2 1
5+ 1. = cot*d — tan*®
sin“6 sin~0

c0526 cos49

=1 Mg el &1 1% g g S |
2x+3y=12 M x —y=1 39 e =l SHIhd HISA S I @IS T x - &7 FR &A1 |

fag =it

sin® — cosH sin® + cosh 2

+ = "5
sind + cosd = sin® — cos®  2sinZ@—1

a"

T T T sin 35° N cosbb°.cosec35°
" cos 55° tanb°® tan25° tan45° tan65° tan85°

T SRARar 9ROl ¥ g T it |
25 9 ST 52

35 | Sl 47

45 9 ST 37

55 | STl 17

65 9 ST

75 9 ST

85 ¥ el

I TgIS 23+ 202+ kx +3 Sl ¥ —3 H 9T o7 T IURA 21 &, A ANH q1 k 61 7H A0
IS qen Bremd a3 + 242+ ky — 18 o 9t ¥=reh off J1d U |

-00o0-

1040110 - A2




